2° lupvaoio ApaAiadac

H OMOP®IA THX MAOHMATIKHE XYMMETPIAX

Xapeite StaBalovtag Toug YonTEUTIKOUG AUTOUG UTIOAOYLOMOUG!

1x8+1=9
12x8+2=98
123 x 8 + 3 =987
1234 x 8 + 4 = 9876
12345 x 8 + 5 = 98765
123456 x 8 + 6 = 987654
1234567 x 8 + 7 = 9876543
12345678 x 8 + 8 = 98765432
123456789 x 8 + 9 = 987654321

1x9+2=11
12x9+3=111
123x9+4=1111
1234 x9+5=11111
12345 x 9+ 6 =111111
123456 x 9 + 7 = 1111111
1234567 x 9 + 8 = 11111111
12345678 x 9 + 9 = 111111111
123456789 x 9 +10 = 1111111111

9x9+7=88
98 x9 + 6 =888
987 x9 +5=28888
9876 x 9 + 4 = 88888
98765 x 9 + 3 = 888888
987654 x 9 + 2 = 8888888
0876543 x 9 + 1 = 88888888
98765432 x 9 + 0 = 888888888

1x1=1
11x11=121
111 x 111 =12321
1111 x 1111 = 1234321
11111 x 11111 = 123454321
111111 x 111111 = 12345654321
1111111 x 1111111 = 1234567654321
11111111 x 11111111 = 123456787654321
111111111 x 111111111 = 12345678987654321

http://2gym-amaliad.ilei.sch.gr/
XpirorodouAou TTavayritne (Labnuarikés 2°° yuuvaciov Apatiddacg)



